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Commonplace

Demonstration

Dramatically

Impractical

Invention

Complex

Direct
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Grammar = Unreal past conditionals
)
OLailed b Canaid & 3S)5 ol

S M VoY hidba 1 (e
"g1" do gt 315
" 451" do pdind) Alaa
"Caas -J" dosuddl Oloa
-tdandl edd Jio Ligad vy sudasy) il Gag
If 1 had studied, | would have passed the exam

do | 3151
If ___had
-Io).ddl vlaa
Studied
Jo_pid| (] -EN
| would have passed the exam
-t daclall 0o laxs oSl (e
If + past perfect, + have + past participle
- Gl glass LiSaay pSals

past perfect = had + past participle

past participle(dasud] woU)) : -
work = worked
Play - played
S Ol i) Uld (&g (ed) auas 35l
Go 2 went
Eat - eaten
See - seen
Give - given

Vo VA 0 ] e lall Jugus ($Sa99

if + had + past participle, might/could/would + have + past participle

-:395ais laadl cadd (Sall 309

Might/could/would + have + past participle, if + had + past participle

-5 uilaadl wluw o _nawall Aol s Y9
I/ he/she/it/we/they &J
if we had played well, we have won
he have inspired us, if he had given us a talk



Grammar = Noun clauses
awws Yl vilaadl ey

Noun clause
Ol il Say
A subject and a verb
Subject : E9090 9l Je b | inico
Verb : J»a

Noun clause = Why it happened
(Why it-13U) (Subject) iaidl
(happened-cdaa) (verb) Jaall

-2 &aga (Subject of a sentence) ilaad] §g.090/ Iuise 92 (Noun clause)d] 9 .1

Why it happened is not clear to me
o el 2o lg_ne IS Saa 13U

Why it happened = Subject of sentence
-3 C’A-(,A (Object of a verb) Jxs 23 9o (Noun clause)d! (9&s .2

He said that we should consider it
oY1 b s O aan Lol Jé

Said = verb
That we should consider it = Object of a verb

-: Eaua (Object of an infinitive)dl_jsuao 9o (Noun clause)d) 9 .3

Its not easy to explain how Al works
eeldawy) S| Jas vuaS & 1 Jgaad| (o (nyd

To explain = Infinitive
How Al works object of an infinitive

- &p(Obiect of a Gerund) JI_juao E94090 9 (Noun clause)d! sS4

Believing that Al can solve all our problems is a mistake
Uai 92 Lo IS Jag pelidawy) (SA) b Slaicy)
Believing = Gerund
That Al can solve all our problems = Object of a gerund

-3 cxga (After a linking verb) Jxs day y w2 (Noun clause)d 9= .4

This is what we need to do
vdaas O clde was b 1o
Is = linking verb
What we need to do = after “is” (linking verb)

-2 Vo 3SR b O sduae Sl Of daa Y5
(Infinitive)dls (Gerund)d!_jouwao (u (5 52l Lo==
-t (ing) J2al auas (Gerund)dl_yjowao
Swim 2 swimming

-t Olals] W palla Jxall (9599 (to) i (Infinitive)dl owaso
Play - to play



Subordinator :-
-:.5 (Subordinator)JL cid gl) wkaxo (Noun clause)d! luw

that (ésc yra¥l od axs Jaxiwddiscuss/explain/mention/say/believe/feel/think)
Giadl @lidn Vg Jids Y9 (Noun clause)dl b lgada Sall (e 9*
I feel that things will get better = | fell things will get better
Wh- question words (how/what/where/when/which/who/why)

Wh- ) aladaicol aie algaiowl Aede Jaxico Y g (Statement word order) Jaxices
(Noun clause)dl 8 (question words

Statement word order
-9l Linle o (Noun clause) ] leol (o (Wh-question words) SlalS il

stdacludl JraYl baa

Remove auxiliary verbs (does,do,did)
@baa3 Y (doesn’t, didn't ) udio ColS 13) lus Lo
: Jio aua gl (Noun clause)d) ilaa Jab g aclewd] Jaall HLS 131 of

The robot doesn’t care what it does

(doesn’t) d9a 9 &aa. Vb
(Jrbg Eguo gl 2lian vY)Noun clause)l Jaall vod H&alg (does) visd (What it does) (Noun clause)Jis
Lalire Jid Y Sl vddad W (il g 9¢0

( (what it does)(Noun clause)dl (3o s 3 J delawo b 953 Y AWl o 52)

What it — object
does — verb

-talgaicol 315L lus .2
(how,what,where,when,which,who,why)

-:Y (Subject 2> verb) cuws sl 95 .3
Where he lives
where he : subject
Lives: verb

-: daclall Gaudas
149150 13 — What do they eat?
wialSL sJ) = What they eat

The robot doesn’t care where does it work? (x)
The robot doesn’t care where it works

Where does it Where it works 1 don’t know
work? where it works
Why did he Why he left That is the reason
leave? why he left
What does she What she wants You have to
want? understand what
she wants
How does it How it happens He knows how it

happen? happens



-2 vuo VA

-: 995 Noun clause

-3 (Subject of a sentence) NSl Wyl 0 -1
What he wants is not with me
-3 (Verb) J2s oy .2
We said that he should play football
- (Infinitive) jouwao o of
its hard to show how computers works

-¢ (Gerund)_uao a2 of

im interested in knowing how Al helps us

mtdas day a3

The year 2020 is when Al got so popular

OloglallL i Jridi ods ax 5Le (that) Jaaicws
(Discuss,explain,mention,say,believe,feel,think)-S
Some experts say that we should be careful from Al
-3 algaiewd! 81951 Jlaxicwl Say
(Wh- how,what,where,when,which,who,why)

(Noun clause)d! »
do g sy 9 Apacs] vilaad lgdgas LY algailw] edle (9 Sal9
(do,does,did) bl .1
(doesn’t, didn’t ) (yuaio 5L 13] Jus Lo
-5 Wi9u alaall JXASs (Noun clause)d] oo s 3a adaai oS gi

He wants to know what you do

They don’t care what he does

S

.

what you do | what he does

Lagddas Ol Saas Ma Lagllrxbi wa (does) 9 (do) 9 (Noun clause) Laa

algalcw) 51950 1oV .2
(Jaall &5 Egoll)-(Subject > verb) was 53 Gle bolaad).3
“where he eats”

where he : subject

eats : verb
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Grammer - passive and active voice

folrall oidlg Jggaall il

(Active) = aglxall isall Jlio
The world produces 300 million tons of plastic each year
Ligieo oMl (o b (94lo 300 i @llal)
ML) 929 Lgicys CLwM| XL (o w25 Oaia o

(Passive) = Joga-all (sirall Jlio
300 million tons of plastic are produced each year
L gteo a_’i.n_’i SELlecoNd] (o (o 300

J2all_paid &ld) o o Y Ld Sl *

Jogaall i Jrall Gays Jelall 4S5 (Say -
(Je8 (10) (iras (By) iaLo by

This product was manufactured last year by the factory
diuall Jib (o Vi Jud i &l 1as_

(Passive) O] (Active)d) Jo9as oS
Subject + verb + object > Object + “Be” + past participle + (By subject)
(Jelall Jid o) + o Ul Jarall +_ ] + vu Jgrdo € vy J9rae + J2b +(Egudgo)Jeld
He recycles plastic > plastic is recycled by him
S (30 0.529045 S1a3 CLeoM) € LM 53905 s 52
"Gl clio callo 13] ) (L) 929 Vidaad) b (Jid (30)(By subject) &uog iy V'
- LS Jagad aslre (e Jrdll_ydS biras - “Be”
Active (aglxo) > Passive (Joga-ll)

(Present simple)dacccdl & jLal] = plays - played

(Past simple)dascadl Ul = Played - read
(Future simple)daccud! Jiicd = Will play 2> played
(Present Perfect)aldl & jLal| = Has played - played
(Past perfect)alil -oul - Had played - played
f = Vv NAL \
Jagaally aglrall ice Slia

J9g2e 9¢d V19 aglrall ggb Jelall ol 13)
J9g0 B39 39290 Je Lol O e M Jelall uw) JUB o5 (By) JB 15) )
IMA 0 J9gaall palall Jagas Say

Subject + verb + object > Object + “Be” + past participle + (By subject)

\ (Jeladl Jid (o) + o Ul J2all + il + v Jarae € v Jarae + J2d +(Eguge)lels }




Problem-solution essay
wadd! Ja Jbe

Egoall vl = (31 o olll
(Lrads v VLo £(5h S Saall (0) 5 aMS = dg0d] (Ul

Joladl =AY | 2| _saa ) Holll

lgla 9 WLe ke WlSadie O 3L oo & saall
-:O) 80 4 959
v PRV-FRN
> yall y9dindividuals .2
OIS il j95Companies .3
wegSaalll 495 Governments .4
vasSLlAl .5
-3(Plastic waste) SNl SLLaU WSdw o Jo 1Ay

Solutions to the problem of plastic waste

Plastic waste has become a major environmental problem in our
lives, because it harms humans, animals, plants and all of the
globe. In order to solve the plastic waste problem, individuals,

companies and governments all need to take action.

Individual action may seem not helpful, but it is very helpful if
everyone does it, first they should reduce there use of plastic
products, and buy products without plastic. Second,

Third, people can recycle plastic products and make them useful.

Companies can help solve this issue dramatically. They can make
products from other materials, such as glass or metal.
And companies have the power
and money to change our opinions. o that's why companies can
help a lot in solving this issue.

Finally, governments can deal with this issue. They can encourage
companies and people to use less plastic. And could
They should add taxes for
people and companies who make plastic waste.

To sum up everything that has been stated so far, the plastic
waste problem is able to be solved. Through shared work
between individuals, companies and governments. That is my
solution for the problem of plastic waste




Problem-solution essay
wadd! Ja Jbe

-:(Air pollution) s19¢Jl 19U AlSdo (s JWo |ARg

Solutions to the problem of air pollution

Air pollution has become a major environmental problem in our
lives, because it harms humans, animals, plants and all of the
globe. In order to solve the Air pollution problem, individuals,

companies and governments all need to take action.

Individual action may seem not helpful, but it is very helpful if
everyone does it, first they should reduce the use of gas engine
cars. Second,
Third, people can use E = cars instead of gas engine cars.

Companies can help solve this issue dramatically. They can make
cheaper E = cars and sell them instead of gas engine cars.
And companies have the
power and money to change our opinions. $o that’s why
companies can help a lot in solving this issue.

Finally, governments can deal with this issue. They can encourage
companies and people to use eco friendly things. And could
They should add taxes for
people and companies who pollute the air.

To sum up everything that has been stated so far, the Air
pollution problem is able to be solved. Through shared work
between individuals, companies and governments. That is my
solution for the problem of Air pollution.




Grammer = Pronouns and related words
Lo Ao v Log sSlawall

-t o2 Vo 3l Yl b sSlasall
Li-1
<ol - you
92 -he
ob) |vJ - him
(L) vlasi | vlasi - Give him )
o2 - she
L) |l - her
(SLIgadl| dwolgadl | JSadl_nad) 92 | o2 - it
o2 - they
*2L) | v¢d - them
o2l | vola | o) - mine
dSlo | db polA | EU - yours
vnalo |vw gola | wJ - his
lgSaLo | g2 oa | Lg! - hers
&Sl | wg2 VoA | 0gd - theirs

Jio AT JIEDL PSlaall g 45 of 9Sa
Adjective + one/ones .1
- WMo
I don’t like the red shirt; | will buy the blue one
CEBPY) WLM)AA}" vasadll caaly

saa Y gaadll can Y W) 153 55 JUI b
(31 82 Lo Sans alg (931 (s s vi) JIB o5
83V pasadll Sgadll b 320 Bl 0519
(03 9ale s w9 (9.3 s (il ixas (The blue one) Ja2s Lias] v salasyL
ikaiog Blews paradll 92 gl wlas 509
(The blue shirt) .uai; (The blue one) g Riliiowid

This/that/these/those (+ noun phrase) .2
-t Yo

Recycling helps the enviroment, This provides us a clean future
[@-TU - ) Po- YOOy HU V- V-W) V-V I TP | XV PRPRgey W vd | p-E Y P~

il el 9] 351e | Jody JLLI 1A b
e sb9y 102 Jody @5
Lado o9uill 83l ] 92 102 (50 dg4ill
il JEA Y 9ail] 3olel [0 dauieo) 1319 alaad] 94590 9 3
wixas (Recycling) S9aslls (This provides) JB 3 v slasYb viuwdig
oadlodle]
(Recycling) Jadicud (This) (8 _srawall 923 (1o () Lo 131a



-3 ML& 9Mi
1
Her works hard

She works hard
sSlaall (u (952l Wolad] Gb sy LS
] 21 d1_sraxall 9l lgSalo 9i gy poli) s (i) (sixs Her
2 ixas She
Jari\Jary ixas (works) Jxs_sadall 29
AL (89 (ay llary) 5555 LIsVLa
Vaanall Glaadl (29 (dam Jaxd o) o lills

(Her work is hard) J& 13] &alg
dadid Jarll AalS sy Ld Jas Cawd (work) alS Y oo
o Alaa 29 (JLD lglac) Girdl (9S5ed

2

Air conditioners make life more comfortable, This is especially
) true in hot climates.
Wb Boale JEdu Buais 14s a1 sladl Galras Olasl|

(It) O Yo (This) Lilaxicol
Sl 92 O Ol i) 14 3 @Sl it Jarics Y JUE 1as b
-3 > 9l
Lis(itis a €ar)-S J1d (0 DY 20 s (€ LU cie Jarics = It
& yleced) (o2 Lo Jub ($3 (30 (551
This is very )-S5 Lo 550 250 91 s o dlay oy y2U) aic = This
g sl 13 Ol aMe]g 1S5 1Aga (important

Sl &3 5 Olassal] O Egud 90 O MLEl JLULI 1A (5ad
Ologlao cludnanryg Xud 99 & s 92 14D (9959 ,lassall kadd (uudd9
(This) Jlaxiw! yaa Y (ad i

3
dg.adll o Bolodl pus
a9 & ySall s = This idea is clear
2aall Jaxicd (These) 0V — These idea is clear — Jgd &uas b
Lyl 5 s2all Jarios (is) 9 5520 (idea) s

Those suggestions were helpful
(That) e Yu (Those) Lilaxicw] Léayi 1429
> yaall (That) 9 deall Jaxiwd (those) OY
Lias| aaall Jaxiud (were) 9 &aa (suggestions)s



Problem-solution essay
wadd! Ja Jbe

-:(Water pollution)_sa-dl &9l AdSdue O JWo lAng

Solutions to the problem of water pollution

water pollution has become a major environmental problem in
our lives, because it harms humans, animals, plants and all of the
globe. In order to solve the water pollution problem, individuals,
companies and governments all need to take action.

Individual action may seem not helpful, but it is very helpful if
everyone does it, first they should stop throwing litters in the
water. Second, Third,

people can recycle and use eco friendly products.

Companies can help solve this issue dramatically. They can ban
throwing waste in the sea.
And companies
have the power and money to change our opinions. $o that’s why
companies can help a lot in solving this issue.

Finally, governments can deal with this issue. They can encourage
companies and people to clean the waters from pollution. And
could They
should add taxes for people and companies who pollute the
water.

To sum up everything that has been stated so far, the water
pollution problem is able to be solved. Through shared work
between individuals, companies and governments. That is my
solution for the problem of water pollution.
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easall Oldaadl = Quantifiers
-t 0@ Jariuw | Oldgaxtl = Count nouns
(many -few - a number of — several — every- each = both —thousands of)
(not much) $954s (much) Gl (not) als ] HSay
(very few) $954s (few) Ol (very) vbuls] (Sas9
:JKao
Olewwwdll o das = a number of organization
OUluwd| LaalllS = Both cars

- Mo . yall g Jarius "o JS" (ixas each/every vdaa Mo
Each sits on a chair

-0 Jaxiuw | 159l _ne - Noncount nouns
(much-little-a large/small amount of — a great deal of)
(not much) $954s (much) Gl (not) s | HSay

Oldls] (Y laxiwl Wt (much)
FaSall 32 Jidaand] G
(isn’t he much older?)-S
LSy Lo _nSi 9o i
-aaSell b
(the company isn’t making much money)-S
JUI (30 _iSall i Y A siinl)

O1dg9axtl_ntg (countables) O1dguxall Zlas il igasall OIdsaall gaxsy s
(uncountables)
=

911 Jedll clisaay Y U] (o Chad @S gl cllw 13)) OIdgurt] § sl o gs
J9a5 Vg yliad Jadid ywalall clAS sililio 9] (8ILE Jois U dakd iS5 9l 2
2liadg dads ald Vb wad Y oY O159ure i (awd ywolallg sULld .aalg
N-RC

591 1S dads Sua casaio § Chud dad S 9i hiod AS 1 oS @ Caliiw 13] Lof
(O1>9ual] $gacusd A0 6 9 Ol Vi I YL

09995 (very) Lagd Lausi 1319 "pans” iras LS (few/litte) : vikaa Mo

O
The company has a few volunteers but money : Mo
wwglall (e OSalg (e glaill s Lgd AS sl




‘ wo_lall Comparatives

Comparative adjectives | adverbs
JraVI | Olaall B ylae

b lio ) GlalS] areuds clisaay
(Tall-Short-Fast-Fix-Cheap-Loud) - &kade
(Happy-Clean) = Hlxlade
(ndatio o) alake (s V9as g s w55 i) (ARl Rauall) 35555 Letis
-3 o (than) o5 (er) L auas

vudle laa — My brother is Happy
v Vo _ylae vilaa. - My brother is happier than me

AaLDs| aie Olawall vulgs b (Y) J2 399 (er) (Happy) wawall Gle las] s 35 lasad
(Happier) Ol (Happy) (o 9559 (er)

ablio SYG O (Urd|ianall) (955 Losis
(Expensive-efficient-comfortable-exciting)
- Mo (er) d o] (9« (than) Laxw g (more/less) gl quad

This book is more expensive than the other book

-29@3%)%6)&ima“).bﬂm
(not) as + adjective/adverb + as
Wio
The product is as cheap as other products
S )&3" Ol@.‘l’.uls 94*5 > ) 8-:-3-“
-1 95 addl 09 -
The cooking is not as good as my mothers cooking
ol FLIRS (gD ] Zudall

Juaadl = Superlatives
-:&1951 SIS Wl
Mo (the + adjective/adverb + est) vousld 9 aalg alkado (0 (950 .1
@all Gb yadb suadl ool = You are e shortest person in the class

(iest) G () Joas dadd 19V JaS viacls (y) gl Jodado (o (9S50
-3(Funny) RalS o WMio
vid i gad o b sl 92 — He is the funniest person | know

+ most/least + ) vOacld (ly)s el 91 iS1 9l grdado (o0 (9S50 .1
-:Mio (adjective/adverb
oo el 2aas (v (0- Among all competitors, you are most quickly
&I ol
Gua Lo \Wule b JaYI by slall od = this is (1o least efficient way -3 AT Jle

-2 Jaaaalll b Ol Lo
Good - best | bad - worst

o\




A review of a product
a‘ oS ““““

E 94911 ) = (9 31 oL
OSall (o) Vlew 9 viw lan] asaly Lay 49 Cols @S = Sg9udl (ol
(Lo v VLo ¢ i IS
QAN 5 Qo _yiis — Ol V) = suad Yl ool
QL) _yS 2o _yds — Oludacd] = paay| (oLl

Lo &iil a5 (9 8 lus (o2 6 5421
-0 a0 4 H9559
Vwoddo .1
56 - Olulanyl Good points .2
Olulod! Bad point .3
waslaldl 4
-:(Mobile phone review) Jla ia jlga wudi O Jlio g

A review of my Mobile phone

I needed a new Mobile phone because mine was too old, so | went
to the nearest mall to buy a new one, | found one that | liked, but
didn’t read any reviews because | was in a hurry. When |
returned home with my new mobile phone i noticed several good
and bad points that | am going to discuss in this review.

First | saw a lot of pros to it, such as the large storage space for
photos, videos and files. And that is very useful, second it was
worth the price, and cheaper than other Mobile phones, | got it
for just 80 B.D. Third, it has an advanced camera and a very fast
charger.

But it isn’t perfect, it has a lot of problems, it is very heavy and
large, so it didn’t fit into my pocket. On top of that it has a short
battery life only 7 hours. and the most annoying thing is that it
has a limited number of apps to download because of security
concerns.

To sum up everything that has been stated so far, the Mobile
phone was a good product to buy, but It had a lot of problems,
and because | didn’t read any reviews, | didn’t know them.
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alaxll 51951 Conjunctions
(However, On the other hand, in contrast, instead) &I §UI3 voylall .1
v Sl s G JBOYI b9 (ST J9b s Jaries
(He likes watching movies because its fun, on the other hand, she prefers
reading books)

(In fact, indeed, obviously, moreover) A«S4qd) .2
(Then, following that, afterwards, next) —waxdl .3
(So, As a result, consequently) Ll .4

SLyall (v Mo gll = Compare and contrast connectors
Im an introvert, but he's an ambivert
(e Laia Vs s1alaisl o a3lsie) O 31940 98 (35219 ,(5519ka5) U
"05l9" (AR59 (U sSad 91 (S O VO_slaall (but) Lilaaico)

Although/Even though I am an introvert, I like spending time with my
family
bl 2o b gl cliad caal,Slakad] S as ) Gle
00 as | Gle' s 29 (Although/Even though) Llaxicol

Introverts like to be alone, Whereas/while get bored alone
@R 9 Hglay Laiws ;009 19995 O G9uay (9451915

"Laiw" 425 29 (Whereas/while) lilaxicol

Im an , and he is, too
Layi 929, Ll
"Ly (S (29 (too) Lilaaico)

Im an , in contrast/However. He’s introvert
Ilglasl ga Jslall Gleg, Li
"dlall Gle' i 29 (in contrast/However) Lilaxico)

Introverts are good listeners, similarly/likewise many ambiverts know
how to listen.
DS Ggalrs 953191 ,Ags Lo 859402 ,39bid (92aikuns (1545191051
O AW (oraiuw
"Lo Jio [AlSLas 8 940" (3425 (29 (similarly/likewise ) Llaxicol




Compare and contrast essay
O log vuylae Jlao
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-302 ) (b e O O le O JWe 1aag

Two different cities

Bahrain has a lot of beautiful cities and beaches, and a lot of
small villages near each other, and you may say they look
similar, but they differ in many ways if you pay close attention,
and | am going to compare Manana and in this essay.

To begin with, let’s take a closer look at the similarities between
both of them, they both have polite people and kids playing
football in the streets. And that is very good in my opinion,
second there were a lot of traditional shops and even modern
markets to buy foods, toys and other needs, lastly I saw a lot of
historical sites in both cities, and that attracts tourists around the
world.

However, there are some obvious differences between both of
them if you pay attention, Manama is more crowded and busier
with a lot of traffic. In contrast is quieter and calmer and
with less traffic. And has more plantation and gardens, as
apposed to Manama that has very few gardens.

To sum up everything that has been stated so far, the and
Manama share a lot of features, but differ in many ways too if
you look into it, and Manama are both amazing in their

own way.
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Two different Experiences

Secondary school and are essential in your academic
journey, and you may say they look similar, but they differ in
many ways if you pay close attention, and 1 am going to
compare Secondary school and in this essay.

To begin with, let’s take a closer look at the similarities between
both of them, they both have amazing and helpful teachers that
are cooprative. And that is very good in my opinion, second |
noticed they both have projects that are done in real life and not
only on paper!, lastly | saw a welcoming environment that
encourages social interactions and creates new friendships.

However, there are some obvious differences between both of
them if you pay attention, Secondary schools system is that all
students are in the school in the same time. In contrast has
different lectures and different times for different students. And

is more strict and hard and you have to manage your
time better, as apposed to Secondary schools where teachers have
more time to explain and grow your knowledge.

To sum up everything that has been stated so far, the and
Secondary schools share a lot of features, but differ in many ways
too if you look into it, and Secondary schools are both

amagzing in their own way.




